See ANSWERS below on PAGE 3.

1.

= 7

24
2.
is 18
[:::j\\\:? 24 d\\K\ 48
N T\
3.

— ﬁ“““i;7
(4 LA
3
£l

The polygons in each pair are similar. Find the missing side length.
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The polygons in each pair are similar. Solve for x.
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7. AABC is similar to ADEF. Their scale factor is 7:9. If the perimeter of AABC is 42, what it the perimeter
of ADEF?

8. ABCD is similar to LMNP. AB = 14, BC =10, NM =x + 6, and ML = x + 9. Find x, the scale factor, the
length of LM, and the length of MN.

9. AABC is similar to ADEF. AB =6, AC=12, ED =x—3, and FD = x + 1. Find x, the scale factor, the length
of DE, and the length of DF.
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8. x=3/2,scale factor =%, LM =10.5, MN = 7.5

z,* [

D C \ { Xth 1y(dd)= 6(A) L= 02

¢ N WYy gY ~ |OX'\’OID
-

N %-\’cp}-\g 10X -
=gl ~ R g
-10.5 1 LY
J#% 1Y )(=O.’l€
6 34
9. x=7,scale factor =2/3, DE=4, DF = 8
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